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Mid Unit 4 Study Guide

Solve the problems.
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Write an equation that is not a linear function. Explain why it is not linear.
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A county park charges a 5175 fee to rent a pavilion plus 520 per guest.

PartA

Write an equation for this function.

Y = 0x + 175

PartB

What do the slope and y-intercept represent?
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To change a temperature in degrees Fahrenheit, £, 1o a temperature in degrees

Celsius, C, the equation € = gF + (v—%) can be used.

Part A

Explain how you know the equation represents a linear function.
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PartB

What are the slope and the y-intercept of this function? What do they represent in
the context of the situation?
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Which equation represents a linear function? Choose all that apply.

A y=x-x

C y=025x+4
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Welte an equation for the function show in the graph,
tdentify the slope and the p-intercept. Then graph a
different linear function that bas the same slope as the R B
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For each tabie, write in the equation that represents the
price per ticket.
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Filipe is paid $1,000 every month plus an additional $150 bonus for every tractor he
sells, x. Write an equation to represent the total amount of money, y, Filipe makes
each month.

What does the slope represent? ,
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What does the y-intercept represent?
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